[M12 = 2 [al= Uxk* I
S = l&,l‘:\ =) {)‘.)‘f<\!

Bara — r‘«.‘k(s(’ = I“l‘?(‘/\‘“vj

Do v = wesbadCe 9

X b
, 1L
. ] Ny A o

2.6 Stble X uwmaf. menflls 2

-
Fat (’A\w'. { e Sedlls —> <>*./U':}
—— )
{'\"/ U-L}

AR ) g
25 Fwe .
( Xy, ¥Cun) Bian: fC3)- (%) bl
Oe (o), Srew,n) Xap= 2Kn
\j"h"' V/L
I3
/ \\_ R T B = QR a
> Bpys {x=e) " ‘*r
R
:S"ILQ LNNUJ‘ | Vu, = l('-\,’u)
an o\ A(% Y é‘)uh = {2 ey n)

pal: Lt b fa h—pdk'lz Lt p be
a seddl {ph. ¢ u Sadite) |
o “tThe STAKL Mw b oLp, W Wi,
v e gebof phe V' dwel (Bat:

Wa o

|.e“(\7\)"((n[ —_ o
o T UNSTABLE  wamedull, W “(P),

W30

l,e-“(\?)— .e-(p) —_— O
-t —> bl weds f?’%ﬁ

Solve QQ/ Kook e
ﬁ C5tuy Var,)
'( ‘7; = ir.Cl’w, Inn)

dw@wm s
"(p) - H-S(. bancbuc'h\lhf (L)
W (p) = vsstele — (Line)

G what aYont hondinan- w-gs,

s Tavvt wep: Wi skl e
A: Locally, CMecp) M.~ b i Y
h .
Ep 22l f(§)= ] ) ’ o WS is e TNVARAWT st e

e (B) e [, &
n(S) CZ;—;S «r() U= (?)

|t /! ).-

TNVARNNT A 768 - .?(\7’) eS

To ovaado W31 B W nvARWT
B wto shb.ove. Gatly,
@ Twadomer of the &+ 9= 4xt
o U V%a(5) € dyshetd
= U= dev € 49=nd
o Vo edy=xtY _.3 9 = 1*4/;@2
=) Vo-(4)¢_> —_— \/ (2(:’2')-7)(.‘3
= U (o) = G -G
cleh Qb4 = dnts 4(B)N4NS

= QK‘: X.‘ - -) 4)<\": y. 0
° (3 ._._((x‘} fs u'a.Van‘mJ.

® =D

0 How Yo hiod G goael WS
A Fd |9 = goud| duel tlat
® Tkvo&m"‘
® embmzs £pt.
® T 4055
s () M/‘P

xo/. =
N (90‘0)) "_5 (290‘:; ?)(.L> ‘( Y, )

Y, = 9) = 290c) -Tx%* =§(RA Vx,”

?%ﬂ- UL)—¥Ix"*z0 @

W _ N nicof lee
S %;‘}i qec;,uw

—>  Numancs.

c_lu_,,_\c, . Yzlbx® Shald shil, G

24wt~ HLEY =
a_-,K)r'._x ")-\gl-—(x f}tz>=‘t/




